COVER SHEET

																			A	2	0	0	1	1	7	7	0	8	
																						8	S.E.C	Reg	istrati	on No).		
	U	R	Р	A	s		1	N	С																				
													Comp	pany's	Full	Name)												
							Į.																						
	F		С	Α	М	В	R	1	D	G	E		С	E	N	Т	R	E		В	٦	D	G						
	0	8		Т	0	R	D	E	S	1	L	L	A	S		S	Т												
	A	L	C	E	D	0	_	٧	1	L	L	A	G	E															
	Α	K	Α	T	1		С	1	Т	Υ		_		_															
									(Busin	ess A	Addres	55 : N	No. St	reet (aty /	Town	/ Pro	vince	,									
			MA	RK	S. G	ORF	RICE	TA															(6	32)	889	-646	67		
				ickshi		t Pers						,											Cor	npan	y Tele	phon	e Nun	nber	
	•	1	-	-	1										17	-c			1						200	d Mo	nday	of N	la:
	2		3	1																					Monti		iluay	Day	lica :
nt		l Yea	Day												ORW	TYP									Monte		al Me	eting	
												0.		ary Lic	N/A	100	IF A	nelies	alsla										
												36	COING	aly Li	onse	Type		ppmor	i i i i										
1	S	R	D																					N/A	_				
pt	. Req	quiring	this	Doc.																	,	Amen	ded A	rticle	s Nur	nber/S	Sectio	in	
																						Tota	I Amo	unt o	f Bon	rowing	js		
																						N/A					N	/A	
ta	No.	of St	ockho	lders																	Dom	estic					Fore	ign	
										To	be ac	comp	lisher	d by S	EC F	Person	nel c	once	med										
		*																											
				File N	lumbe	er									LCU														
		_				_				1																			
														Z-															
			0	ocum	ent I.	D.									Casi	hier													
								1																					
			STA	MPS																									

EC	DRM	23	-B
	2 1 N 191	20	

STATEMENT OF CHANGES IN BENEFICIAL OWNERSHIP OF SECURITIES
Flid partial to Section 22 of the Security Population Code

REVISED	
---------	--

Check.	best f	no larger	0.800
to fing	requi	rement	

Nome and Address of Reporting Person	2. Issuer Home and Trading	Cyrolical			7. Relatorship of I	Reporting Pleason to Facaer				
NOLLEDO NICO JOSE SANTIAGO		XURPAS I	NC.		(Check of applicable)					
(Last) Finth (Many)	2. Tac identification Number	Tac Identification Tac Identification Tac Identification			1 -	Director Officer (give one below)	eve;	/ 10% Owner Cities (specify telow)		
4 158-000 CESSEN - WEST - 1 170										
(City) Phownest (Posts Code)	FILIF	INO	Fel	0-19						
				Table 1 - Equi	ty Securities Bene	ficially Owned				
1. Dies of Eastly Security	2. Transaction 4 Code (Mental/Cos/Train)	. Becurtico Acquirec (A) or 1	seboracio, tot		2. Arount of Sec	attes Ownic in End of Vords Humber of Shares	4. Ownership Form: Denot (0) or redirect (1) *	6. Habse of Indirect Described Overcostip		
	(Hadrony Tar)	Ansond (A) or (D)		Prior	'	Horse or arises				
COMMON SHARES	BEGINNING BALANCE				15.13%	283,058,859	D	N/A		
	(FEB 19, 2019)				3.52%	65,838,763	1	indirect Ownership through Edun Insurational Holdings Pise, Ltd. Holled		
	TOTAL BEGINNING BALANCE (FEB 19, 2019)				18.65%	348,893,622	D and I	own WS's of Micross international Landon. Wildow international Lindau own BWs of bible international relatings Plus Ltd. The retired shares associated invention by the cells of biblings of Edwa International relatings Plus Ltd. in Warpers		
	Feb. 20, 2019	11,000,000	D		SEE ATTACHED CTIONS FOR FI	ANNEX A FOR EBRUARY 2019	1			
					15.13%	283,056,859	D			
	ENDING - BALANCE				2.64%	49,353,087		Indirect Coverable is equivalent to		
la a lisma Karaka	TOTAL ENDING BALANCE				17.77%	332,409,946	D and I	97% Of Eden incorretional Holdings Pia: Litch shows in Xurpen		
				Get Cressing						
				company of the						
						SOME THE PROPERTY OF THE				

If the change in beneficial ownership is 50% of the previous shareholdings or is equal to 5% of the outstanding capital stock of the issuer, provide the disclosure requirements set forth on page 3 of this form.

Paremoter: Report on a separate line for each class of equity succeition beneficially curred directly or indirectly.

- (f). A parson is directly or indirectly the benefitse owner of any easily executly with respect to which he has or shares:
 - (A) Voting power which includes the power to vote, or to circci the voting of, such security, and/or
 - (B) Investment power which includes the sover to dispose of, or to direct the disposition of, such accusty.
- (2) A person will be opened to have an indirect beneficial interest in any easity accurity which is: (A) I haid by receibers of a person's immediate family sharing the same household.
 - (B) held by a partnership in which such person is a general partner:
- (C) hed by a corporation of which such person is a controling shareholder, or
- (C) scaped to any contract, arrangement or understanding which gives such person varieg power or investment power with respect to such recently.

(Print or Type Besperson)

Table II - Derivative Securities Acquired, Disposed of, or Beneficially Owned (e.g., warrants, options, convertible securities)

Derivative Security								
Se Se								
2. Conversion or Exercise Price of Derivative Security								
3. Transaction Date (Month/Day/Yr)								
Number of Denvitive Securities Acquired (A) or Disposed of (D)	Amount							
o Securities posed of (D)	(A) or (D)							
Exercisable and Expiration Date (Month/Day/Year)	Date Exercisable							
	Expiration							
 Time and Amount of Underlying Securities 	Tab							
mount of	Amount or Number	of Shares						
Derivative Security								
Bereficially Owned at	End of Morth							
ship Form of Derivative Security: Direct (D)	Indirect (i) *			S. S				
of Indirect Beneficial Ownership								

Explanation of Responses:

Note: File three (3) copes of this form, one of which must be manually signed.

Attach additional sheets if space provided is insufficient.

DISCLOSURE REQUIREMENTS IN CASE OF MATERIAL CHANGES IN BENEFICIAL OWNERSHIP (50% INCREASE/DECREASE OR EQUIVALENT TO 5% OF THE OUTSTANDING CAPITAL STOCK OF ISSUER)

Item 1. Security and Issuer

State the title of the class of equity securities to which this Form relates and the name and address of the principal executive offices of the issuer of such securities

Item 2. Identity and Background

If the person filing this Form is a corporation, partnership, syndicate or other group of persons, state its name, the province, country or other place of its organization, its the information specified in (a) through (f) of this Item with respect to such person(s). principal business, the address of its principal office and the information required by (d) and (e) of this Item. If the person filing this statement is a natural person, provide

- a. Name;
- Residence or business address;

0

- Present principal occupation or employment and the name, principal business and address of any corporation or other organization in which such employment is conducted;
- Whether or not, during the last five years, such person has been convicted in a criminal proceeding (excluding traffic violations or similar misdemeanors) and, if so, give the dates, nature of conviction, name and location of court, any penalty imposed, or other disposition of the case;
- Whether or not, during the last five years, such person was a party to a civil proceeding of a judicial or administrative body of competent jurisdiction, domestic or foreign, and as a result of such proceeding was or is subject to any order, judgment or decree, not subsequently reversed, suspended or vacated, permanently or temporarily enjoining, barring, suspending or otherwise limiting involvement in any type of business, securities, commodities or banking; and
- . Citizenship.

Item 3. Purpose of Transaction

State the purpose or purposes of the acquisition of securities of the issuer. Describe any plans or proposals which the reporting persons may have which relate to or would

- The acquisition by any person of additional securities of the issuer, or the disposition of securities of the issuer;
- An extraordinary corporate transaction, such as a merger, reorganization or liquidation, involving the issuer or any of its subsidiaries;
- A sale or transfer of a material amount of assets of the Issuer or of any of its subsidiaries;
- Any change in the present board of directors or management of the issuer, including any plans or proposals to change the number or term of directors or to fill any existing vacancies on the board;
- Any material change in the present capitalization or dividend policy of the issuer:
- Any other material change in the issuer's business or corporate structure;
- Changes in the issuer's charter, bylaws or instruments corresponding thereto or other actions which may impede the acquisition of control of the issuer by any person:
- Causing a class of securities of the issuer to be delisted from a securities exchange;
- Any action similar to any of those enumerated above.

Item 4. Interest in Securities of the Issuer

State the aggregate number and percentage of the class of securities identified pursuant to Item 1 beneficially owned (identifying those shares which there is a right to persons who, together with any of the persons named in Item 2, comprise a group. acquire within thirty (30) days from the date of this report) by each person named in Item 2. The abovementioned information should also be furnished with respect to

- For each person named in response to paragraph (a), indicate the number of shares as to which there is sole power to vote or to direct the vote, shared power to vote or to direct the vote, sole or shared power to dispose or to direct the disposition. Provide the applicable information required by Item 2 with respect to each person with whom the power to vote or to direct the vote or to dispose or direct the disposition is shared.
- Describe any transaction in the class of securities reported on that were effected during the past sixty (60) days by the persons named in response to paragraph (a). The securities involved; (4) the price per share or unit; and (5) where or how the transaction was effected. description shall include, but not necessarily be limited to: (1) the identity of the person who effected the transaction; (2) the date of the transaction; (3) the amount of
- d. If any other person is known to have the right to receive or the power to direct the receipt of dividends from, or the proceeds from the sale of such securities, a statement to that effect should be included in response to this Item and, if such interest relates to more than five (5%) percent of the class, such person should be identified
- e. If the filing is an amendment reflecting the fact that the reporting person has ceased to be the beneficial owner of more than five (5%) percent of the class of securities state the date on which such beneficial ownership was reduced.

Item 5. Contracts, Arrangements, Understandings or Relationships with Respect to Securities of the Issuer

relationships have been entered into. Include such information for any of the securities that are pledged or otherwise subject to a contingency the occurrence of which would guarantees of profits, division of profits or loss, or the giving or withholding of proxies, naming the person with whom such contracts, arrangements, understandings or give another person voting power or investment power over such securities except that disclosure of standard default and similar provisions contained in loan agreements securities of the issue, including but not limited to transfer or voting of any of the securities, finder's fees, joint ventures, loan or option arrangements, puts or calls need not be included. Describe any contract, arrangement, understanding or relationship among the person named in Item 2 and between such persons and any person with respect to any

Item 6. Material to be Filed as Exhibits

Copies of all written agreements, contracts, arrangements, understandings, plans or proposals relating to:

- the acquisition of issuer control, liquidation, sale of assets, merger, or change in business or corporate structure or any other matter as disclosed in Item 3; and
- the transfer or voting of the securities, finder's fees, joint ventures, options, puts, calls, guarantees of loans, guarantees against losses or the giving or withholding of any proxy as disclosed in Item 5.

This report is signed in the City of Makati on After reasonable inquiry and to the best of my knowledge and belief, I certify that the information set forth in this Report is true, complete and accurate.

NICO JOSE S. NOLLEDO Chairman of Xurpas Inc.

ANNEX "A" COMPANY: EDEN INTERNATIONAL HOLDINGS PTE, LTD													
	CC	The second secon	INTERNATIONAL	HOLDINGS PTE, L	THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE PERSON NAMED IN COLUMN TWO IS NAMED IN C	NO OF OWN PEC							
DATE	TOTAL AMOUNT (PHP)	PRICE PER SHARE	NO. OF SHARES	BUY/SELL	WAS EFFECTED	NO. OF SHARES							
BEGINNING B	ALANCE	CHICKE				128,930,763							
Feb. 13, 2019	1,870,000	1.87	1,000,000	SELL	EXCHANGE	127,930,763							
Feb. 13, 2019	4,115,320	1.88	2,189,000	SELL	EXCHANGE	125,741,763							
Feb. 13, 2019	567,000	1.89	300,000	SELL	EXCHANGE	125,441,763							
Feb. 13, 2019	1,710,000	1.90	900,000	SELL	EXCHANGE	124,541,763							
Feb. 13, 2019	1,910,000	1.91	1,000,000	SELL	EXCHANGE	123,541,763							
Feb. 13, 2019	576,000	1.92	300,000	SELL	EXCHANGE	123,241,763							
Feb. 13, 2019	497,940	1.93	258,000	SELL	EXCHANGE	122,983,763							
Feb. 13, 2019	975,000	1.95	500,000	SELL	EXCHANGE	122,483,763							
Feb. 14, 2019	4,396,240	1.79	2,456,000	SELL	EXCHANGE	120,027,763							
Feb. 14, 2019	7,200,000	1.80	4,000,000	SELL	EXCHANGE	116,027,763							
Feb. 14, 2019	1,991,000	1.81	1,100,000	SELL	EXCHANGE EXCHANGE	114,927,763 113,227,763							
Feb. 14, 2019 Feb. 14, 2019	3,094,000 1,830,000	1.83	1,000,000	SELL	EXCHANGE	112,227,763							
Feb. 14, 2019	1,880,480	1.84	1,022,000	SELL	EXCHANGE	111,205,763							
Feb. 14, 2019	555,000	1.85	300,000	SELL	EXCHANGE	110,905,763							
Feb. 14, 2019	319,410	1.89	169,000	SELL	EXCHANGE	110,763,763							
Feb. 14, 2019	570,000	1.90	300,000	SELL	EXCHANGE	110,463,763							
Feb. 14, 2019	779,520	1.92	406,000	SELL	EXCHANGE	110,030,763							
Feb. 14, 2019	1,158,000	1.93	600,000	SELL	EXCHANGE	109,430,763							
Feb. 14, 2019	970,000	1.94	500,000	SELL	EXCHANGE	108,930,763							
Feb. 15, 2019	6,400,000	1.60	4,000,000	SELL	EXCHANGE	104,930,763							
Feb. 15, 2019	1,685,920	1.64	1,028,000	SELL	EXCHANGE	103,902,763							
Feb. 15, 2019	3,300,000	1.65	2,000,000	SELL	EXCHANGE	101,902,763							
Feb. 15, 2019	830,000	1.66	500,000	SELL	EXCHANGE	101,402,763							
Feb. 15, 2019	850,000	1.70	500,000	SELL	EXCHANGE	100,902,763							
Feb. 15, 2019	1,539,000	1.71	900,000	SELL	EXCHANGE	100,002,763							
Feb. 15, 2019	3,243,920	1.72	1,886,000	SELL	EXCHANGE	98,116,763 97,954,763							
Feb. 15, 2019	280,260	1.73	162,000	SELL SELL	EXCHANGE EXCHANGE	96,370,763							
Feb. 15, 2019	2,772,000 1,320,000	1.76	1,584,000 750,000	SELL	EXCHANGE	95,620,763							
Feb. 15, 2019 Feb. 15, 2019	267,270	1.77	151,000	SELL	EXCHANGE	95,469,763							
Feb. 15, 2019	5,430	1.81	3,000	SELL	EXCHANGE	95,466,763							
Feb. 18, 2019	760,000	1.52	500,000	SELL	EXCHANGE	94,966,763							
Feb. 18, 2019	8,874,000	1.53	5,800,000	SELL	EXCHANGE	89,166,763							
Feb. 18, 2019	2,574,800	1.54	1,672,000	SELL	EXCHANGE	87,494,763							
Feb. 18, 2019	1,550,000	1.55	1,000,000	SELL	EXCHANGE	86,494,763							
Feb. 18, 2019	3,120,000	1.56	2,000,000	SELL	EXCHANGE	84,494,763							
Feb. 18, 2019	747,320	1.57	476,000	SELL	EXCHANGE	84,018,763							
Feb. 18, 2019	2,708,120	1.58	1,714,000	SELL	EXCHANGE	82,304,763							
Feb. 18, 2019	42,930	1.59	27,000	SELL	EXCHANGE	82,277,763							
Feb. 18, 2019	4,584,000	1.60	2,865,000	SELL	EXCHANGE	79,412,763							
Feb. 18, 2019	1,288,000	1.61	800,000	SELL	EXCHANGE	78,612,763							
Feb. 18, 2019	1,385,100	1.62	855,000	SELL SELL	EXCHANGE EXCHANGE	77,757,763 77,618,763							
Feb. 18, 2019	227,960 1,008,000	1.64	139,000 700,000	SELL	EXCHANGE	76,918,763							
Feb. 19, 2019 Feb. 19, 2019	290,000	1.45	200,000	SELL	EXCHANGE	76,718,763							
Feb. 19, 2019	2,581,280	1.46	1,768,000	SELL	EXCHANGE	74,950,763							
Feb. 19, 2019	2,295,000	1.53	1,500,000	SELL	EXCHANGE	73,450,763							
Feb. 19, 2019	2,926,000	1.54	1,900,000	SELL	EXCHANGE	71,550,763							
Feb. 19, 2019	2,325,000	1.55	1,500,000	SELL	EXCHANGE	70,050,763							
Feb. 19, 2019	1,985,880	1.56	1,273,000	SELL	EXCHANGE	68,777,763							
Feb. 19, 2019	136,590	1.57	87,000	SELL	EXCHANGE	68,690,763							
Feb. 19, 2019	790,000	1.58	500,000	SELL	EXCHANGE	68,190,763							
Feb. 19, 2019	1,113,000	1.59	700,000	SELL	EXCHANGE	67,490,763							
Feb. 19, 2019	1,920,000	1,60	1,200,000	SELL	EXCHANGE	66,290,763							
Feb. 19, 2019	408,940	1.61	254,000	SELL	EXCHANGE	66,036,763							
Feb. 19, 2019	324,000	1.62	200,000	SELL	EXCHANGE	65,836,763							
Feb 20, 2019	8,523,200	1.40	6,888,090	SELL	EXCHANGE	59,748,763							
Feb 20, 2019	1,551,000	1.41	1,100,000	SELL SELL	EXCHANGE EXCHANGE	58,648,763 57,556,763							
Feb 20, 2019	1,550,640 290,000	1.42	1,092,000	SELL	EXCHANGE	57,356,763							
Feb 20, 2019 Feb 20, 2019	292,000	1,45	200,000	SELL	EXCHANGE	57,156,763							
Feb 20, 2019 Feb 20, 2019	335,160	1.47	228,000	SELL	EXCHANGE	56,928,763							
Feb 20, 2019	710,400	1.48	480,000	SELL	EXCHANGE	56,448,763							
Feb 20, 2019	447,000	1,49	300,000	SELL	EXCHANGE	56,148,763							
Feb 20, 2019	1,518,000	1,50	1,012,000	SELL	EXCHANGE	55,136,763							
Feb 20, 2019	453,000	1.51	300,000	SELL	EXCHANGE	54,836,763							
ENDING BAL	ANCE		74,094,000			54,836,763							